AL N ER

1. LEA4
THE4 TR o FE X ek 3 i B ) T
TEH 4 (B) EEER = >0 R RTEE 5
() S i IR SR SR Ly BT 5 [ i
2. TENE
1) HHEA4 IR EESEEAT THEE iR
2) X L M SN = A
3) T B BRSO B A N S
£ 5 84 3HASIAET
4) T EHEgHE

ESR S E iR Wk S



[ () S IR 7= > oo i HE PR T Hk 5 Hh 2

HNERE

T4 | ORI X A E ) 9

LHEXy - L - FEjl

HOAL

#

e

&

Ay LEL St
B e

=

75, 330, 178

mi+T

x

67, 295, 280

#EEI T (ICT)

m3

10, 000

3, 503, 200

FEHI (1CT)
/Y 7" iy BEEML 10, 000m3LL 50, 000m
AT ;

FEIA (=27)
EAE

B

P BT

63, 792, 080

T

T CEBE- AR £ET)
T

IRV L ;
T

=F;
Vs e Uy

T CEBE- AR £ET)
Vs e Uy

IRV L ;
Vs e Uy

£F;

B

B

B

B

B

B

FRIE 6 T

2

2, 581, 050

E¥ELT

156, 050

aie

&
pill
fa

RE D7 ny) L

2

2, 425, 000

100 EA]

rGan

5, 453, 848

THEHERT

2

612, 968

T HE Rt

4. 0mPA I 5 A, B E T
T s

; i B e

ESR S S E IR Wk S




[ () S IR 7= > oo i HE PR T Hk 5 Hh 2

Poxin =
BAENRE
T4 | B R ] T R ) TR
THRXSy « Lff - fEi5 Bz ¥ & & A M a1l N 7
HHLF 1 2V
HEIT9v4=77 RC-40 FE 100mm ;
BRI T X 3,850,880 |{H¥EEL1ET 2/ 1 E
(GAE A
FRE - AR ERE T
VGV 1k 7 /A 1 2
(FEERM)
FRE - AR ERE T
AEEB T = 1 990, 000 | A2 E i B 1 2V
RiBFHEEHEB
[EREREE 2V 1 75, 330, 178
Il R = 1 4,131, 000
Bt = 1 992, 000
Hfires gy = 1 598, 000 | VATAFIHIE; (ICT) 1 =
Bl RIEWER (FE L) = 1 394, 000
Il (it L) = 1 3, 139, 000
il TR = 1 79, 461, 178
Bl H 2V 1 12, 236, 000
T =5l = 1 121, 856, 773
— R B 2V 1 12, 553, 227
T =AM = 1 134, 410, 000

ESR S S E IR Wk S




[ () S IR 7= > oo i HE PR T Hk 5 Hh 2

Vaviarel =1
B NERE
T4 | 48R 5 X At E 4 ) T3
THXSy « TfE - FER H A7 B & & F # il N 7
LiE - =K 1 7, 354, 120
LT = 1 4, 081, 590
PEH L (ICT) m3 900 371,070 | HEHI (ICT) 1 =
T A7 iy BEEEEL 5, 000m3A ;
AT = 1 3,710,520 | RO IEH 1 =Y
W CESL- ERREY tETe)
sy 1 T
W CESL- ERREY E5Te)
AR - B T = 1 542, 946
RABRAR T = 1 542,946 | fXA XA 1, 500 m2
AR (BhiohE L)
FRARTE Hy 1, 500 m2
LR IA 1, 500 m2
ALK TE 4 m3
AR (28
ALK TE 10 m3
A () ;
ALK TE 5 m3
A (R)
LG5 3 t
AR (28
LG5 10 t
A ()
LG5 4 t
A GR)
rGan = 1 2,729, 584
THEHIERKT = 1 577,184 | BHkIR 1 =
22X1,524X3,048 (mm) XiE-E ; Sk B
BEte

ESR S S E IR Wk S




[ () S IR 7= > oo i HE PR T Hk 5 Hh 2

Poxin =
BAENRE
T4 | B R ] T R ) TR
TEHEXSy - TfE - fER Bz ¥ & & A M i N 7
TG #IBG1E T X 1 1,822,400 |{5i#b; 1720 1 =
FRE - AR ERE T
AEEB T = 1 330,000 |AZiEFEEEE B 1 F2V
RiBTFHEEEB
[EREREE 2V 1 7,354, 120
Il R = 1 2,097, 440
Il R = 1 1, 520, 440
TR 2V 1 1,441,440 | {RERFELE 1 =
BlGRIEUER (FE L) = 1 79, 000
Il (it L) = 1 577, 000
il TR = 1 9, 451, 560
Bl H 2V 1 3, 003, 000
T =5l = 1 12, 454, 560

-4 - Etrzmey TR R




[ () S IR 7= > oo i HE PR T Hk 5 Hh 2

Vaviarel =1
B NERE
T4 | 48R 5 X At E 4 ) T3
THXSy « TfE - FER H A7 B & & F # il N 7
B = 1 12, 315, 035
T = 1 6, 251, 805
PEH L (ICT) m3 1, 200 1,116,720 | #EH (ICT) 1 =
T A7 vy BEEMEEL 5, 000m3F ;
RS 1 =
T CEBE - ARV LETe) AIEHIEREIC
X 5 iE
FEOA (v=27) 1 =Y
+# +E50, 000m3 R ;
LT = 1 5,135,085 | Wb & iEH; 1 =Y
W CESL- ERREY tETe)
RS 1 =
W CESL- ERREY tETe)
Vs e Uy 1 =
W CESL- ERREY tETe)
HE A 1 =
L O-27)
FRIE 6 T = 1 5,119, 430
LT 2V 1 425,430 | ; KBV HERLET
RED7 1y) T = 1 4,694,000 |48FE4 200 gES
2tH (BHIERERY) HEsH A
rGan = 1 943, 800
15 I T = 1 658,800 | V5EH 117z 1 =
RIS AR ERE T
AR T 2V 1 285,000 |23 5 B 1 £
RiEFEEEHESB ;
[ERERES ¢ 2V 1 12, 315, 035

ESR S S E IR Wk S




[ () S IR 7= > oo i HE PR T Hk 5 Hh 2

=

T4 | HEORJIS X A E S ) T

FX Sy - THE - FER HOfr ¥ B & # # bl 2 g

Rk E = 1, 181, 000
s R = 136, 000
HGRESER (G5 L) v 136, 000
il (RE L) v 1, 045, 000
TR = 13, 496, 035
B E R v 4, 209, 000
TRl = 17, 705, 035

ESR S S E IR Wk S




